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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 3634 10.1 3 15 67.7 99.7

| 3 | s74a | 223 | 96 | 45 | 495 | 158 |
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Q1 (a) With reference to the item and your own knowledge, explain the
meaning of the term status. [5]

Answers should be fully rewarded for accuracy and relevance.

Candidates may refer to the following:
Definition

Ascribed status

Achieved status

Status and influence/power
Status and agents of socialisation
Examples

Marks AO1

There will be relevant points made which identify the meaning of the term,

3 displaying a detailed and clear understanding of the term.

5 There will be some understanding of the term which is illustrated through
the use of examples.

1 There will be basic understanding of the term with misunderstanding
evident.

0 No relevant points will be made.

Marks AO?2

Detailed understanding is displayed through clear explanation. Reference

2 will be made to the item.
1 There will be some analysis.
0 No explanations offered.

© WJEC CBAC Ltd.





(b)

Using material from the item and your own knowledge, describe and

explain how any two agents of socialisation influence behaviour.

[10]

The focus of the answer should be on the process of socialisation.
Terms such as sanctions, role model, imitation should be expected/rewarded.
The best answers will refer to specific examples focusing on behaviour.

Other relevant ideas that may be valid and worthy of credit.

Marks AO1 (5) AO2 (5)
There are a number of specific, correct | Appropriate examples and
and relevant points made. explanations of the processes or
Correct sociological terminology will be | @gencies described will be apparent.
used in such a way as to display
4-5 explicit knowledge and understanding. Analysis will be explicit.
The guality of written communication
will be good.
Additional sociological knowledge will | Reference will be made to item.
be present.
There will be some relevant points Some appropriate examples and
made. explanations of the processes or
Some sociological language may be agencies described will be apparent.
5.3 present. o S

There may be some errors of Analysis will be implicit.
punctuation, spelling and grammar.
There may be reference to the item or
additional sociological knowledge.
There is little evidence of sociological | Limited use of appropriate examples

1 content. and explanations of the processes or
Answers will be common sense in agencies described will be apparent.
approach.

© WJEC CBAC Ltd.
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Sticky Note

Accurate definition.



Sticky Note

Accurate knowledge and sociological language. 



Sticky Note

Developed reference to item. 



Sticky Note

Good example.



Sticky Note

Developed with the use of sociological knowledge and language. 



Sticky Note

AO1 - 3
AO2 - 2

5 marks

Definition and clear understanding. Good use of sociological language. Good use of item and developed example. 
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Sticky Note

Definition rather vague, needs to be more explicit. 



Sticky Note

Reference to the item with some development. 



Sticky Note

Acceptable example. 



Sticky Note

AO1 - 1
AO2 - 2

3 marks.
Vague definition. Some understanding. Uses item and gives another example. Another knowledge point would have gained an extra mark. 
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Sticky Note

Not focused on question. 



Sticky Note

Reference to the item, but undeveloped. 



Sticky Note

Irrelevant example, not linked to the question. 



Sticky Note

AO1 - 0
AO2 - 1

1 mark
Unfocused but some attempt to use the item. 
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Sticky Note

First agent identified as peer groups. 



Sticky Note

Reference to the item with some development. 



Sticky Note

Accurate reference to the process of socialisation. 



Sticky Note

Reference to behaviour, as stated in the question. 



Sticky Note

A second example of how peer groups can influence behaviour. 
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Sticky Note

Second agent identified as schools. 



Sticky Note

Reference to the process of socialisation in terms of sanctions. 



Sticky Note

Reference to behaviour but could have given a specific example. 



Sticky Note

AO1 - 5
AO2 - 4

9 marks

2 agents accurately identified. The focus of the answer is mainly on the process. Reference made to the item but this could have been developed in terms of 'how.'
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Sticky Note

Socialisation is defined but it is not really necessary. 



Sticky Note

Peer groups identified as an agent of socialisation. 



Sticky Note

Copying implies the process, but an explicit example would have improved the answer. 



Sticky Note

Reference to sanctions again focuses on the process of socialisation. 



Sticky Note

Second agent identified. The use of paragraphs should be encouraged. 
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Sticky Note

Mainly descriptive rather than focusing on the process. 



Sticky Note

Passing reference to sanctions but undeveloped. 



Sticky Note

AO1 - 4
AO2 - 4

8 marks
2 agents identified but some imbalance. Peer groups better than family, reference to the item could have been developed, as could the reference to behaviour. 
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Sticky Note

Media identified as an agent of socialisation. 



Sticky Note

The answer would have been improved by using the term 'role model.' 



Sticky Note

Reference to behaviour. 



Sticky Note

Some loss of focus. The candidate is now writing about another agent of socialisation; peer groups. 
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Sticky Note

Reference to the family but undeveloped. 



Sticky Note

AO1 - 2
AO2 - 2

4 marks

This candidate has focused on primary and secondary socialisation rather than specific agents of socialisation. Nevertheless, credit has been given for what has been written about the media and the family. Media was better than family because it shows more understanding of the process. Technical language would have improved the answer. 
















1.

Compulsory

Read the item below and answer the following questions.

Peer groups can play an important part in the socialisation process. Within the peer group
young people can begin to develop independence from their parents. This helps prepare them
for their future life as adults. In peer groups, some individuals can have more influence than
others. These are the members of the group who have a high status.

(@) With reference to the item and your own knowledge, explain the meaning of the term
status. [5]

(b) Using material from the item and your own knowledge, describe and explain how any two
agents of socialisation influence behaviour. [10]
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Families and Culture

Qz (a)

Outline and explain why cohabitation has increased in the contemporary UK.
[15]

Expect a range of reasons (3/4) with an explanation of their influence on the

increase in cohabitation.

Answers may refer to some of the following:

e Accurate statistics
Secularisation

and Crow
McRay

Changing values/declining stigma
Increased independence of women - Bejin
Divorce rates/fear of marriage/high expectations/cost of marriage - Allan

e Preparation for marriage - Chester
Effective contraception - Allan and Crow

The emphasis here is on demonstrating knowledge and understanding and
an ability to explain in terms of the question,

Other relevant ideas that may be valid and worthy of credit.

AO1 (8)

AO2 (7)

7-8

Candidates will be able to make accurate,
appropriate and detailed reference to a range of
writers, research and theory.

There will be a detailed level of knowledge and
understanding and this will be detailed and wide
ranging.

Candidates will be able to refer to more than one
area of sociology where appropriate.

Answers will be expressed in appropriate
sociological language.

Candidates will be able to make accurate and
appropriate use of the sociological terminology
indicated in the specifications, showing knowledge
and understanding of its meaning.

The quality of written communication is very good,
with few, if any, errors of spelling, punctuation or
grammar.

6-7

Candidates will relate their knowledge directly to
the question under consideration and this link will
be detailed and explicit.

References to writers, research and/or theory will
be explained in detail and contextualised.
Answers will be formally constructed with a clear
and logical argument.

Evaluation and/or analysis will be detailed and
explicit throughout the answers.

The candidate may challenge the terms of the
guestion.

5-6

Candidates will be able to make some accurate,
appropriate reference to writers, research or
theory.

There will be some knowledge and understanding
and this will be detailed or wide ranging.
Candidates may be able to refer to more than one
area of sociology where appropriate.

Answers will make some use of appropriate
sociological language.

Candidates may be able to make some use of the
sociological terminology indicated in the
specifications, showing some knowledge and
understanding of its meaning.

The quality of written communication is, for the
most part good though there may be some errors
of spelling, punctuation and grammar.

4-5

Candidates will relate their knowledge to the
guestion under consideration but the link is likely
to be more implicit than in band 4.

References to writers, research or theory will have
some explanation.

Answers will have some clarity and logical
argument.

Evaluation or analysis is likely to be implicit and is
unlikely to be present throughout the answer.

© WJEC CBAC Ltd.






AO1 (8)

AO2 (7)

3-4

Candidates will be able to make basic references
to writers, research or theory.

There will be basic knowledge and understanding
but this will lack detail and will not be wide ranging.
Candidates will make basic references to other
areas of sociology.

There will be limited and at times inaccurate use of
the sociological terminology indicated in the
specifications.

The quality of written communication will be limited
with frequent errors of punctuation, spelling and
grammar.

2-3

Candidates will make basic links between their
knowledge and the question.

There will be basic explanation of any writers,
research or theory referred to.

Answers will have basic clarity or logical
argument.

Any evaluation or analysis will be implicit and very
limited.

1-2

Candidates may rely on anecdotal references with
few if any references to writers, research or
theory.

There will be limited knowledge or understanding.
There will be limited use of sociological language.
The quality of written communication will be poor
with numerous errors of spelling, punctuation and
grammar.

1

Candidates will make limited links between their
knowledge and the question.

There will be limited explanation of any writers,
research or theory.

There will be limited analysis.

0
No relevant knowledge or understanding
displayed.

0
No relevant analysis.

© WJEC CBAC Ltd.






(b) Discuss the influence of social changes on families.

[30]

Expect to see a discussion focused on different aspects of family, candidates may
refer to family structure and/or roles within the family.

The discussion should be supported by evidence with an explanation of the

evidence.
Secularisation

Legislation
Changing norms and values
Economic changes

Changing roles and independence of women/men

Demographic changes e.g. the changing role of grandparents, theoretical

viewpoints of changing family structure - functional, new right, post-modern.

Other relevant ideas that may be valid and worthy credit.

AO1 (16)

AO2 (14)

13-16

Candidates will be able to make accurate,
appropriate and detailed reference to a range of
writers, research and theory.

There will be a detailed level of knowledge and
understanding and this will be detailed and wide
ranging.

Candidates will be able to refer to more than one
area of sociology where appropriate.

Answers will be expressed in appropriate
sociological language.

Candidates will be able to make accurate and
appropriate use of the sociological terminology
indicated in the specifications, showing knowledge
and understanding of its meaning.

The quality of written communication is very good,
with few, if any, errors of spelling, punctuation or
grammar.

12-14

Candidates will relate their knowledge directly to
the question under consideration and this link will
be detailed and explicit.

References to writers, research and/or theory will
be explained in detail and contextualised.
Answers will be formally constructed with a clear
and logical argument.

Evaluation and/or analysis will be detailed and
explicit throughout the answers.

The candidate may challenge the terms of the
guestion.

9-12

Candidates will be able to make some accurate,
appropriate reference to writers, research or
theory.

There will be some knowledge and understanding
and this will be detailed or wide ranging.
Candidates may be able to refer to more than one
area of sociology where appropriate.

Answers will make some use of appropriate
sociological language.

Candidates may be able to make some use of the
sociological terminology indicated in the
specifications showing some knowledge and
understanding of its meaning.

The quality of written communication is, for the
most part good though there may be some errors
of spelling, punctuation and grammar.

8-11

Candidates will relate their knowledge to the
guestion under consideration but the link is likely to
be more implicit than in band 4.

References to writers, research or theory will have
some explanation.

Answers will have some clarity and logical
argument.

Evaluation or analysis is likely to be implicit and is
unlikely to be present throughout the answer.

© WJEC CBAC Ltd.






AO1 (16)

AO2 (14)

5-8

Candidates will be able to make basic references
to writers, research or theory.

There will be basic knowledge and understanding
but this will lack detail and will not be wide ranging.
Candidates will make basic references to other
areas of sociology.

There will be limited and at times inaccurate use of
the sociological terminology indicated in the
specifications.

The quality of written communication will be limited
with frequent errors of punctuation, spelling and
grammar.

4-7

Candidates will make basic links between their
knowledge and the question.

There will be basic explanation of any writers,
research or theory referred to.

Answers will have basic clarity or logical argument.
Any evaluation or analysis will be implicit and very
limited.

1-4

Candidates may rely on anecdotal references with
few if any references to writers, research or theory.
There will be limited knowledge or understanding.
There will be limited use of sociological language.
The quality of written communication will be poor
with numerous errors of spelling, punctuation and
grammar.

1-3

Candidates will make limited links between their
knowledge and the question.

There will be limited explanation of any writers,
research or theory.

There will be limited analysis.

0
No relevant knowledge or understanding
displayed.

0
No relevant analysis.

© WJEC CBAC Ltd.






		Blank Page

		Blank Page

		Blank Page




GENERAL CERTIFICATE OF EDUCATION
TYSTYSGRIF ADDYSG GYFFREDINOL

1351/01

Sociology

Question 2 A
Script A






rcmm\ uf““‘\’) Sof {’m —yeria) non.
250 Ay ?csxwoc@(“\BV‘A =gy ==
femenidrs — SNOUPe .
4
CQ,,)é,g
| . P
2.0 Conhahirabion has ncfeased n rhe contem=_| %2,%
pofary UK g due ro mMany AL SUCA (QS;/J’,;
0S qur\c\u\\uﬁ posodernise vie uus ana Eemin (S . Sr,cy\j
Of’J \q
Fustlu, 60e OF the I%SUG') CLU\lCl be due +¢ /)/)/9
o i » i Gy

weo dcina cernrm £922.,000 LWUALCIN. SORAL

COUpLen U\)Jmud (OO PUF Q dyocmk [ael'a

O houu\p Oy \pc,nc:i W ons Lv\ecuc”mmou

s Mal SO Ha ok pecple SHIL Value

J
MO 0A grcmsrl( QY\QH\’ (\/\o\mﬁ peopi-e
(Q\r\cxb\km)m UHUQUM Qe MO g LLUH/\H’\ (@]

Uecus of FIVITaYe] {{WC\P"[’\@( TS 3NCDS NG

Jme Nerease Jm onNab\vraron. could be

=N

Adue 1o Ane dicolods V\.\C‘JA\/\ Cest .

Secondld, a4 posrmodelnsk views woulaol

,_

J’
%uc;\c:jux& ot D@(\me are sty (60 K\ﬂOl ECY

l_l

.j
Fhé “ngjins nem(m Glddens OUre r\elmmmhnp
SUaa el Hmcu— peaple Qe iOQm\\(\O CQr

(“"(\JL dent iove. This pAeans ‘rhm“)\c their

QML(:{& arent veina N0+ fheu have No
A

P OAGA LG SFol and can Wouul o G
pounk. s encalil0qes senal monooamde

J,
\/V\\S 6\.}0(‘)6/51’8 rhat QA peran oWt (ot

116! CQW\W\W (n®) V\:\Q((\Q\C\G \¢ ey Qeny

cex@\n \C dheil peoals t’m\\ be me)%-\r, Tei(‘h\/\\((ul\LJx

peapie afe * ’\’rgmc_l‘ hetae -Hn@j’(e I~ \‘5‘(\%"‘




Sticky Note

In order to access marks in the highest mark band, candidates should aim to identify three reasons/factors that have contributed to the increase in cohabitation. Their explanations of the reasons/factors should include supporting sociological evidence. 



Sticky Note

First reason identified with accurate reference to the cost. Candidates should be encouraged to state the source of any statistics or numbers they use in their answers. 



Sticky Note

Some explanation which could have been further developed in terms of the question. 



Sticky Note

This paragraph starts with the explanation rather than the reason but does get to the reason towards the end of the paragraph. 



Sticky Note

Accurate reference to a named sociologist. 



Sticky Note

Not really the focus of the question. 
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Sticky Note

Third reason clearly identified as changing values. 



Sticky Note

Two accurate references to evidence. 



Sticky Note

Explanation in terms of the question. 



Sticky Note

Some loss of focus in this sentence. 
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Sticky Note

Reason 1. 



Sticky Note

Reason 2. 



Sticky Note

Reason 3.



Sticky Note

Reason 4. 





Question
number
Rhif y
Cwestiwn

N uNOtdnwo NQLGAONININT  ANC

cncl N oY@ mu\mod LN
CN\QOe cO CO -NODUE . MO
WO O ouvod mus, Y

]

=

Leave
Blank
Gadewch
yn wag



Sticky Note

AO1 - 5
AO2 - 2

7 marks

A number of reasons identified but list-like. Some accurate use of sociological language but no evidence.

AO2 is basic and lacks development. 
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Sticky Note

In order to access marks in the highest bands, candidates were expected to discuss the influence of social changes on families. The better answers generally identified specific social changes and their discussions had an analytic and evaluative tone. 



Sticky Note

A brief introduction which demonstrates an understanding of the question. 



Sticky Note

Legislative change identified accurately. 



Sticky Note

Accurate evidence used to identify the influence of the change on families and family types. 



Sticky Note

Theory is used to develop a discussion on the influence of the change. The answer could have been improved with reference to an opposite viewpoint regarding the influence of divorce on families. 



Sticky Note

Another legislative change is accurately identified. 



Sticky Note

Once again the candidate discussed the influence of this change and makes reference to theory. 
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Sticky Note

Accurate reference to feminists and the changing role of women. 



Sticky Note

Reference to changing gender roles could have been developed. 



Sticky Note

Some repetition. 



Sticky Note

Attempt at explanation but could be further developed. 



Sticky Note

Theory used again to comment on the changes. Reference to Murdock rather dated and not fully focused on the question. 



Sticky Note

The answer ends with two confused and vague paragraphs. 

AO1 - 11
AO2 -10

21 marks

A narrow range of points with some depth. Focused on social changes but more specific examples of their influence on families would have improved the answer. An attempt to use theory as part of the discussion. 
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Sticky Note

Introduction which displays some understanding.



Sticky Note

Change to family structure linked to legislative changes.



Sticky Note

Accurate use of theory to evaluate the change. 



Sticky Note

Attempts discussion as to the cause of some changes to family life. 



Sticky Note

Some sociological knowledge demonstrated in this paragraph, but not well linked to the specifics of the question. 
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Sticky Note

The reference to Fletcher could have been developed and linked to specific social changes. 



Sticky Note

The last paragraph becomes more focused again with reference to relevant legislative changes. 



Sticky Note

AO1 - 10
AO2 - 9

19 marks

Despite rather a narrow focus, there is some relevant sociological knowledge and the candidate attempts some discussion. 



Sticky Note

The influence of the changes could have been further developed as could the reference to post-modernism in the last sentence. 
















2. Families and Culture
(@) Outline and explain why cohabitation has increased in the contemporary UK. [15]

(b) Discuss the influence of social changes on families. [30]
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Youth cultures

Q3 (a

Outline and explain the features of neo-tribes.

[15]

Expect a range of features (3/4) with an explanation.

Answer may refer to some of the following:

Lack of coherent structure

Networks of choice
Short term networks

Fluid/open in terms of membership
Not linked to class, gender, ethnicity
Blurred in terms of values, behaviour, style

Bennett, Hetherington, Bauman, Roberts, Post-modernism.

The emphasis here is on demonstrating knowledge and understanding and
an ability to explain in terms of the question.

Other relevant ideas that may be valid and worthy of credit.

AO1 (8)

AO2 (7)

7-8

Candidates will be able to make accurate,
appropriate and detailed reference to a range of
writers, research and theory.

There will be a detailed level of knowledge and
understanding and this will be detailed and wide
ranging.

Candidates will be able to refer to more than one
area of sociology where appropriate.

Answers will be expressed in appropriate
sociological language.

Candidates will be able to make accurate and
appropriate use of the sociological terminology
indicated in the specifications showing knowledge
and understanding of its meaning.

The quality of written communication is very good,
with few, if any, errors of spelling, punctuation or
grammar.

6-7

Candidates will relate their knowledge directly to
the question under consideration and this link will
be detailed and explicit.

References to writers, research and/or theory will
be explained in detail and contextualised.
Answers will be formally constructed with a clear
and logical argument.

Evaluation and/or analysis will be detailed and
explicit throughout the answers.

The candidate may challenge the terms of the
question.

5-6

Candidates will be able to make some accurate,
appropriate reference to writers, research or
theory.

There will be some knowledge and understanding
and this will be detailed or wide ranging.
Candidates may be able to refer to more than one
area of sociology where appropriate.

Answers will make some use of appropriate
sociological language.

Candidates may be able to make some use of the
sociological terminology indicated in the
specifications showing some knowledge and
understanding of its meaning.

The quality of written communication is, for the
most part good though there may be some errors
of spelling, punctuation and grammar.

4-5

Candidates will relate their knowledge to the
question under consideration but the link is likely
to be more implicit than in band 4.

References to writers, research or theory will have
some explanation.

Answers will have some clarity and logical
argument.

Evaluation or analysis is likely to be implicit and is
unlikely to be present throughout the answer.

© WJEC CBAC Ltd.






AO1 (8)

AO2 (7)

3-4

Candidates will be able to make basic references
to writers, research or theory.

There will be basic knowledge and understanding
but this will lack detail and will not be wide ranging.
Candidates will make basic references to other
areas of sociology.

There will be limited and at times inaccurate use of
the sociological terminology indicated in the
specifications.

The quality of written communication will be limited
with frequent errors of punctuation, spelling and
grammar.

2-3

Candidates will make basic links between their
knowledge and the question.

There will be basic explanation of any writers,
research or theory referred to.

Answers will have basic clarity or logical
argument.

Any evaluation or analysis will be implicit and very
limited.

1-2

Candidates may rely on anecdotal references with
few if any references to writers, research or
theory.

There will be limited knowledge or understanding.
There will be limited use of sociological language.
The quality of written communication will be poor
with numerous errors of spelling, punctuation and
grammar.

1

Candidates will make limited links between their
knowledge and the question.

There will be limited explanation of any writers,
research or theory.

There will be limited analysis.

0
No relevant knowledge or understanding
displayed.

0
No relevant analysis.

© WJEC CBAC Ltd.






(b)

Discuss the influence of social changes on youth subcultures.

[30]

Expect to see a discussion focused on a range of youth subcultures.

The discussion should be supported by evidence with an explanation of evidence.

Influence in terms of:

Class

Gender

Ethnicity

The influence of the media
Identity/role of young people
Increasing consumerism
Changing working economy
The growth of neo-tribes

Theoretical viewpoints - Marxism, functionalism, feminist, post-modern

Other relevant ideas that may be valid and worthy of credit.

AO1 (16)

AO2 (14)

13-16

Candidates will be able to make accurate,
appropriate and detailed reference to a range of
writers, research and theory.

There will be a detailed level of knowledge and
understanding and this will be detailed and wide
ranging.

Candidates will be able to refer to more than one
area of sociology where appropriate.

Answers will be expressed in appropriate
sociological language.

Candidates will be able to make accurate and
appropriate use of the sociological terminology
indicated in the specifications, showing knowledge
and understanding of its meaning.

The quality of written communication is very good,
with few, if any, errors of spelling, punctuation or
grammar.

12-14

Candidates will relate their knowledge directly to
the question under consideration and this link will
be detailed and explicit.

References to writers, research and/or theory will
be explained in detail and contextualised.
Answers will be formally constructed with a clear
and logical argument.

Evaluation and/or analysis will be detailed and
explicit throughout the answers.

The candidate may challenge the terms of the
question.

9-12

Candidates will be able to make some accurate,
appropriate reference to writers, research or
theory.

There will be some knowledge and understanding
and this will be detailed or wide ranging.
Candidates may be able to refer to more than one
area of sociology where appropriate.

Answers will make some use of appropriate
sociological language.

Candidates may be able to make some use of the
sociological terminology indicated in the
specifications showing some knowledge and
understanding of its meaning.

The quality of written communication is, for the
most part good though there may be some errors
of spelling, punctuation and grammar.

8-11

Candidates will relate their knowledge to the
question under consideration but the link is likely
to be more implicit than in band 4.

References to writers, research or theory will have
some explanation.

Answers will have some clarity and logical
argument.

Evaluation or analysis is likely to be implicit and is
unlikely to be present throughout the answer.

© WJEC CBAC Ltd.
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AO1 (16)

AO2 (14)

5-8

Candidates will be able to make basic references
to writers, research or theory.

There will be basic knowledge and understanding
but this will lack detail and will not be wide ranging.
Candidates will make basic references to other
areas of sociology.

There will be limited and at times inaccurate use of
the sociological terminology indicated in the
specifications.

The quality of written communication will be limited
with frequent errors of punctuation, spelling and
grammar.

4-7

Candidates will make basic links between their
knowledge and the question.

There will be basic explanation of any writers,
research or theory referred to.

Answers will have basic clarity or logical
argument.

Any evaluation or analysis will be implicit and very
limited.

1-4

Candidates may rely on anecdotal references with
few if any references to writers, research or
theory.

There will be limited knowledge or understanding.
There will be limited use of sociological language
The quality of written communication will be poor
with numerous errors of spelling, punctuation and
grammar.

1-3

Candidates will make limited links between their
knowledge and the question.

There will be limited explanation of any writers,
research or theory.

There will be limited analysis.

0
No relevant knowledge or understanding
displayed.

0
No relevant analysis.

© WJEC CBAC Ltd.
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Sticky Note

Introduction to neo-tribes. This is accurate and refers to a sociologist. Despite this, an introduction is not really necessary for this question, especially as time is short on this paper. 



Sticky Note

In order to access marks in the highest mark bands, candidates should aim to identify three distinct features of neo-tribes. Their explanations of the features should include supporting sociological evidence. 




Sticky Note

First feature identified. 



Sticky Note

Brief but sufficient explanation with reference to theory and a sociologist. 



Sticky Note

Second feature clearly identified. 



Sticky Note

Good explanation with reference to sociologists and with accurate use of sociological language. 



Sticky Note

Third feature identified and again explained with accurate reference to relevant sociologists and theory. 
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Sticky Note

AO1 -8
AO2 - 7

15 marks

This answer was awarded full marks. Three distinct features were identified with supporting evidence for each. Each of the features was well explained with relevant examples. 
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Sticky Note

Feature identified. 



Sticky Note

An example relating to neo-tribes would have been better than the reference to punks. 



Sticky Note

Second feature identified but undeveloped. No evidence or examples. 
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Sticky Note

Third feature refers to companionship but again the example is undeveloped and refers to skinheads rather than neo-tribes. 
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Sticky Note

In order to access marks in the highest bands, candidates were expected to discuss the influence of social changes on youth subcultures. The better answers generally identified specific social changes and their discussions had an analytic and evaluative tone. 



Sticky Note

Brief introduction that demonstrates some understanding. 



Sticky Note

Use of theory. 



Sticky Note

Reference to a specific youth culture which is linked to a social change. 



Sticky Note

Further evidence used to explain.



Sticky Note

This point could have been further developed, e.g. the references in brackets. 



Sticky Note

Discussion and evaluation of the studies cited. This could have been more closely linked to the explicit social changes. 
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Sticky Note

The next paragraph focuses on resistance to racism. This is developed with reference to sociologists and specific youth subcultures. 



Sticky Note

The candidate draws a conclusion that is focused on the question before going on to evaluate the theories/studies discussed. 



Sticky Note

A third change is identified and again linked to theory and sociological studies. 
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Sticky Note

Once again, the candidate is focused on the question. 



Sticky Note

Further sociological knowledge is used to evaluate. 



Sticky Note

This paragraph refers to post-modernism. It is accurate and relevant. Despite this, the candidate could have improved by referring to some specific changes.  
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Sticky Note

The candidate concludes by bringing together a number of the points made. Something that should be encouraged when candidates are answering essay questions. 



Sticky Note

AO1 - 16
AO2 - 14

20 marks

Full marks for this answer. There is clear knowledge and understanding and the answer is wide-ranging and detailed. Evidence and theory are used throughout. There is clear discussion and evaluation of each point made. 
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Sticky Note

AO1 - 5
AO2 - 4

9 marks

There is some potential here and the candidate has some knowledge and understanding of relevant sociological material. Unfortunately, the answer is very brief and undeveloped. This highlights the importance of timing. This candidate had maybe spent too much time on the other questions. 



Sticky Note

Relevant point but undeveloped. 



Sticky Note

Rather vague, could be linked more specifically to social change. 



Sticky Note

Potentially good point with reference to theory and a specific subculture. Again, undeveloped. 
















3. Youth Cultures
(@) Outline and explain the features of neo-tribes. [15]

(b) Discuss the influence of social changes on youth subcultures. [30]
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